Patinomias (I)

Productos natables: desarrollar |as siguientes expresiones.

1. (Qu+w)” 2. (d+ :’.?2')2

3. Gt by 4 (x+ L)’

5 (4x—u)° 6. (2u-4r)°

7 (a-4)’ 5 (04)

g I':J I"“_p)z 10. (Bxy—-x)’

11, (2v-ay) 12, (L —w)”

13, (Ta’ - Lo’ 14 («57 - Lw)’

18, (Fx? = 3x%) : 16, (v +2v) e (x = 2))

7. (xwps) s (x—y%) 18, 3=a)-(~u)

19, S+a)=(a-5) 20, (Zx+Lly) e {(3x-1y)
21, (3x-1)={(3x+1) 22 (=3xt+y)s (3% )

23, (327 -Ln?) = (33 +dnt) 24 (35257 = Zxv) « (527 + )
25 (42 Ley)« (Lie k) 26 (3 47) + (360 10%)
27, {37+ Ly2)? 28, (&% — Lxyz) :

29. (37 - Ladyi)’ 300 (x? = tavz) o (67 + Lus)



